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Predlet the stereochemistry of the product in the followmg reaction
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Predlct the stereochem1stry of epox1de formed in the- followmg stereoselectlve"

reactlon : . ‘
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1. . Answer question No. 1 and any 5 from the reman’ﬁ'&g ?\0
2. Figures to theright indicate marks
‘1. Answer any Ten of the following. C ST (10%2=20) _

‘a, Predictthe product in the following reaction.
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| What s shapiro reaction? Give an example..
¢.  Identify the product inthe following protocol.
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- “What happens when cyclohexene is reacted with NBS followed by water work -up?
PHCOOH + PhNH, —2€ 52 |

Give an example for oppenauer reaction. -
'What happens when Anisole is subjected to Birch reduction?
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Outhne the steps involved in the following convers1on
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Give an example for Wolff-kishner reduction.

Calculate the composition of R and S in terms of percentage if a product obtamed by

an enantloselectwe reaction is 95% ee.

Explain whether biomination of cyclohexene is stereoselective or stereospecific?

Define Asymmetric amplification. Give an example.

Predict the reagent and out line the mechanism involved in the following

transformation.
Die

wm%g@

What is Hoﬁnann -Martius rearrangement‘? Discuss its mechanism.
Predlct the product with a suitable mechanism for the followmg reaction.

R : (3+3+4 =10)
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Discuss the synthetic applications of 1,3 - Dithiane.

. Pred1ct the product with suitable imechanism for the following reaction.
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What happens when the following compound isreacted with DDQ?-  (4+3+3=10)
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Predict the product(s) in the following reaction.
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b.  Givean example of McMuzry reaction explaln witha mechanism. _
¢. Predict the stereochemlstry of the product. ' (3+3+4=10)
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5. a. Predict the stereochemistry of product in the follotving aldol reaction.
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b. Discuss the synthetlc apphcaton of (S)~BINAL
. Write a note on polymer - bound chiral catalysts i in asymmetric induction. (3+3+4 10)-
6. a. Predict the product w1th steps involved in the following reaction.
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b. I((’ " tify the product and give the mechanism for the following protocol. (4+6=10)
OH e NSH 9
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7. a. - Discuss the synthetic applications of Corey - Chaykovsky reagent.

What is Dess - Martin oxidation? Give any two uses. (6+4=10)

 How the folIowing transformation can be accomplished? Explairi with mechanism.
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